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H{+ Xz Rexum | XKEN | IEERK Xz e Xum | RAEN | AFERK
c) kW) | &EDEEERG) c) kW) | EDEEER®%)
H24.2.11 (£) & 6.9 1,803 434 i 8.0 1,170 59.1
H24.2.12 (B) i 7.1 1,789 43.1 i 8.0 1,080 54.5
H24.2.13 (A) | E&™W 6.1 3,653 87.9 5] 6.0 1,760 88.9
H24.2.14 (k) 58] 7.0 3,538 85.2 55 7.0 1,810 91.4
H24.2.15 OK) | REEE 75 3,608 86.8 ) 7.0 1,790 90.4
H24.2.16 (R) i 7.7 3,259 78.4 i 8.0 1,770 89.4
H24.217 (&) | BBRE= 7.0 3,433 82.6 = 7.0 1,800 90.9
H24.2.18 (%) i 4.2 2,403 57.8 £ 5.0 1,160 58.6
H24.2.19 (B) & 6.6 1,692 40.7 & 7.0 1,070 54.0
H24.2.20 (A) i 8.3 3,196 76.9 i 9.0 1,780 89.9
H24.2.21 (k) = 8.3 3,485 83.9 =) 9.0 1,780 89.9
H24.2.22 (k) | 2%’ | 11.6 3,116 75.0 £ 11.0 1,710 86.4
H24.2.23 (K) | RE | 11.2 2,802 67.4 55 12.0 1,710 86.4
H24.2.24 (%) i 125 3,092 74.4 £ 13.0 1,640 82.8
H24.225 (1) | FR&EE | 84 2,151 51.8 55 8.0 1,280 64.6
H24.2.26 (H) = 6.6 1,770 42.6 £ 7.0 1,180 59.6
H24.2.27 (B) |Ek 4| 6.2 3,540 85.2 i 7.0 1,770 89.4
H24.2.28 (X) | BBHRE | 87 3,248 78.2 i 9.0 1,740 87.9
H24.2.29 (OK) | FR&RE | 122 3,043 73.2 = 13.0 1,720 86.9
H24.3.01 (K) = 146 3,020 83.8 £ 15.0 1,640 90.6
H24.3.02 (&) | RE&EE | 121 2,966 82.3 55 12.0 1,620 89.5
H24.3.03 (1) i 125 2,109 58.6 i 14.0 1,130 62.4
H24.3.04 (B) | Z#%F | 100 1,696 471 55 9.0 1,020 56.4
H24.3.05 () 55 12.1 3,202 88.9 53] 120 1,650 91.2
H24.3.06 (X) | RRE | 17.2 2,928 81.3 £ 17.0 1,580 87.3
H24.3.07 (7K) £ 12.9 2,742 76.1 £ 13.0 1,620 89.5
H24.3.08 (K) | BEE&E | 140 2,761 76.7 £ 14.0 1,600 88.4
H24.3.09 (£) 58] 9.5 2,904 80.6 55 9.0 1,670 92.3
H24.3.10 () £ 10.4 1,884 52.3 £ 11.0 1,060 58.6
H243.11 (B) | &R | 94 1,410 39.1 £ 10.0 1,030 56.9
H24.3.12 (B) = 6.1 2,609 72.4 £ 6.0 1,710 94.5




